

**FOURTH AMENDMENT TO AGREEMENT FOR GROUNDS MAINTENANCE SERVICES –
SOUTHEAST AND SOUTHWEST RIGHTS-OF-WAY AND CITY LOTS**

THIS FOURTH AMENDMENT TO AGREEMENT FOR GROUNDS MAINTENANCE SERVICES – SOUTHEAST AND SOUTHWEST RIGHTS-OF-WAY AND CITY LOTS ("Fourth Amendment") is entered into by and between the **CITY OF OCALA**, a Florida municipal corporation ("City"), and **EXTREME ENTERPRISES OF MARION COUNTY, INC.**, a for-profit corporation duly organized and authorized to do business in the state of Florida (EIN# 20-0079563) ("Contractor").

WHEREAS, on January 18, 2023, City and Contractor entered into an Agreement for Grounds Maintenance Services – Southeast and Southwest Rights-of-Way and City Lots (the "Original Agreement"), City of Ocala Contract No.: PWD/220817 for a term of two (2) years, from January 18, 2023, to January 17, 2025; and

WHEREAS, on January 5, 2024, City and Contractor entered into a First Amendment to Agreement for Grounds Maintenance Services – Southeast and Southwest Rights-of-Way and City Lots (the "First Amendment") to modify the contact information and the locations to be serviced by Contractor; and

WHEREAS, on April 11, 2024, City and Contractor entered into a Second Amendment to Agreement for Grounds Maintenance Services – Southeast and Southwest Rights-of-Way and City Lots (the "Second Amendment") to further modify the service locations and replace the location and pricing schedule with Amended Exhibit B – Price Proposal (the "Second Amendment"); and

WHEREAS, on February 19, 2025, City and Contractor entered into the Third Amendment to Agreement for Grounds Maintenance Services – Southeast and Southwest Rights-of-Way and City Lots (the "Third Amendment") to renew the Original Agreement, as amended, for the first of two (2) available one-year periods; and

WHEREAS, City and Contractor now desire to renew the Original Agreement, as amended, for the second of two one-year renewals available under the Original Agreement and add a location to be serviced.

NOW THEREFORE, in consideration of each of the foregoing recitals and the following mutual covenants, conditions and other good and valuable consideration, the receipt and sufficiency of which is hereby mutually acknowledged, City and Contractor agree as follows:

1. **RECITALS.** City and Contractor hereby represent and warrant that the Recitals set forth above are true and correct.
2. **AMENDMENT TO EXHIBIT B.** The document attached to the Original Agreement, as amended, as **Amended Exhibit B – Price Proposal** is hereby deleted and replaced in its entirety with **Exhibit B – Amended Price Proposal**.
3. **INCORPORATION OF ORIGINAL AGREEMENT.** The Original Agreement between City and Contractor, as amended, is hereby incorporated by reference as if set forth herein in its entirety and remains in full force and effect, except for those terms and conditions expressly amended by this Fourth Amendment.
4. **RENEWAL TERM.** The Original Agreement, as amended, is hereby renewed for an additional one-year term beginning on **JANUARY 18, 2026**, and terminating **JANUARY 17, 2027**.

5. **RENEWAL COMPENSATION.** Contractor shall be paid a price not to exceed the maximum limiting amount of **ONE HUNDRED SEVENTY THOUSAND, EIGHT HUNDRED EIGHTY-SEVEN AND 75/100 DOLLARS (\$170,887.75)** (the "Contract Sum") over the Renewal Term as full and complete compensation for the timely and satisfactory provision of services in accordance with the unit pricing schedule described in **Exhibit B – Amended Price Proposal**.
6. **NOTICES.** All notices, certifications or communications required by this Fourth Amendment shall be given in writing and shall be deemed delivered when personally served, or when received if by facsimile transmission with a confirming copy mailed by registered or certified mail, postage prepaid, return receipt requested. Notices can be concurrently delivered by email. All notices shall be addressed to the respective parties as follows:

If to Contractor:

Extreme Enterprises of Marion County, Inc.
Attention: John Milligan
P.O. Box 5033
Ocala, Florida 34478
PH: 352-274-2991
E-Mail: jmextreme@yahoo.com

If to City of Ocala:

Daphne Robinson, Esq., Contracting Officer
City of Ocala
110 SE Watula Avenue, Third Floor
Ocala, FL 34471
E-Mail: notices@ocalafl.gov
PH: 352-629-8343

Copy to:

William E. Sexton, Esq., City Attorney
City of Ocala
110 SE Watula Avenue, Third Floor
Ocala, FL 34471
E-Mail: cityattorney@ocalafl.gov

7. **COUNTERPARTS.** This Fourth Amendment may be executed in counterparts, each of which shall be an original and all of which shall constitute the same instrument.
8. **ELECTRONIC SIGNATURE(S).** Contractor, if and by offering an electronic signature in any form whatsoever, will accept and agree to be bound by said electronic signature to all terms and conditions of this Fourth Amendment. Further, a duplicate or copy of the Fourth Amendment that contains a duplicated or non-original signature will be treated the same as an original, signed copy of this original Fourth Amendment for all purposes.
9. **LEGAL AUTHORITY.** Each person signing this Fourth Amendment on behalf of either party individually warrants that he or she has full legal power to execute this Fourth Amendment on behalf of the party for whom he or she is signing, and to bind and obligate such party with respect to all provisions contained in this Fourth Amendment.

[REMAINDER OF PAGE INTENTIONALLY LEFT BLANK. SIGNATURE PAGE TO FOLLOW.]

IN WITNESS WHEREOF, the parties have executed this Fourth Amendment on _____.

ATTEST:

Angel B. Jacobs
City Clerk

Approved as to form and legality:

By: _____

(Printed Name)

Title: _____

CITY OF OCALA

Ire Bethea, Sr.
City Council President

**EXTREME ENTERPRISES OF
MARION COUNTY, INC.**

By: _____

(Printed Name of Signatory)

Title: _____
(Title of Authorized Signatory)

Exhibit B - Amended Price Proposal CONTRACT# PWD/220817

SOUTHEAST LOCATIONS						
ITEM	DESCRIPTION	UOM	#Cuts per Year	UNIT COST	EXTENDED COST	
PWD/SE 22-001	Median - SE 28th Ave. from Ft. King to SE 6th St.	EA	22	\$ 27.30	\$ 600.60	
PWD/SE 22-002	Median - SE 29th Ave. from Ft. King to SE 6th St.	EA	22	\$ 27.30	\$ 600.60	
PWD/SE 22-003	Median - SE 31st Ave. from Ft. King to SE 6th St.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-004	Median - SE 31st Terr. From Ft. King to SE 6th St.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-005	Median - SE 32nd Ave. from Ft. King to SE 6th St.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-006	Median - SE 13th St. and SE 42nd Ave.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-007	Magnolia Ave. Ext from Se 8th St to Se 17th St & Lake Weir Ave. from Se 17th St to Se 38th St	EA	22	\$ 181.55	\$ 3,994.10	
PWD/SE 22-008	Median/R.O.W SE 18th Ave from SE 13th St to SE 27st "cut to the tree line west side of SE 18 ave "	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-009	'Median"SE 7th St. from SE 17th Terr. to SE 23 Terr. " at the Dead end	EA	22	\$ 53.69	\$ 1,181.18	
PWD/SE 22-010	'Median/R.O.W - SE 11th Ave. from SE 8th St. to SE 17St.	EA	22	\$ 53.69	\$ 1,181.18	
PWD/SE 22-011	Median - SE 12th St. and SE 10th Ave.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-012	Median - SE 34th Terr. South of SE 13th PL (DRA) (shallow drainage retention area)	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-013	Median - 1600 Blk. SE 29th Terr.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-014	Median - SE 18th Ave. and 5th St.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-015	Median - SE 12th PL. and SE 10th Ave.Two triangle medians & the corner of SE 10 Ave & 13 ST	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-016	Median - SE 5th St. and SE 15th Terr.	EA	22	\$ 15.00	\$ 330.00	
PWD/SE 22-017	SE 25th Ave. from E State Road 40 to SE Maricamp Rd (including behind the wall from top of wall down to the fence all the way down to the end of the wall)	EA	22	\$ 135.82	\$ 2,988.04	
PWD/SE 22-018	R.O.W/Median SE 31st St from SE Maricamp Rd to S Pine"mow up to the utility pole at 3447 SE 31ST "	EA	22	\$ 259.35	\$ 5,705.70	
PWD/SE 22-019	Median - SE Sanchez Ave. and SE 11th St.	EA	22	\$ 23.89	\$ 525.58	
PWD/SE 22-020	ROW - SE 24th Rd from Lake Weir Ave. to SE 31st St MOW UP TO TREE LINE ACROSS 1501 SE 24 RD ALL THE WAY DOWN	EA	22	\$ 202.93	\$ 4,464.46	
PWD/SE 22-021	ROW - SE 3rd Ave from SE 8th St to S PINE ave .	EA	22	\$ 16.38	\$ 360.36	
PWD/SE 22-022	ROW - SE 8th St. from SE 3rd Ave to SE 1st Ave.	EA	22	\$ 16.38	\$ 360.36	
PWD/SE 22-023	ROW - SE 9th Ave from SE 16th St. to dead end	EA	22	\$ 16.38	\$ 360.36	
PWD/SE 22-024	ROW - SE 17th St. from SE 25 AVE to SE 36 AVE " Including concrete median at SE 30 ave and 17 st "	EA	22	\$ 40.00	\$ 880.00	
PWD/SE 22-025	ROW - 3500 Blk. SE 13th PL. (Northside)	EA	22	\$ 20.02	\$ 440.44	
PWD/SE 22-026	ROW - SE 22nd Ave. and SE 17th St. (SW Corner)	EA	22	\$ 20.02	\$ 440.44	
PWD/SE 22-027	ROW - SE 44th Ave. from E. Ft. King to SE 8th St., both sides and next to fence	EA	22	\$ 21.40	\$ 470.80	
PWD/SE 22-028	Medians/ROW - 1400 Blk. SE 30th Ave. sidewalk area east and west side and medians near SE 7th St. and SE 4th St.	EA	22	\$ 50.05	\$ 1,101.10	
PWD/SE 22-029	SE Fort King from SE 11 Ave to city limit sign 4700 block of Ft. King "DO NOT cut center medians" in the area between 25 Ave & 36 Ave.	EA	22	\$ 125.00	\$ 2,750.00	
PWD/SE 22-030	ROW- SE 18th St. from SE 30th Ave. to SE 24th St. and SE 32nd Ave..	EA	22	\$ 53.69	\$ 1,181.18	
PWD/SE 22-031	ROW-SE 36th Ave from Ft. King to SE 31st St	EA	22	\$ 209.30	\$ 4,604.60	
PWD/SE 22-032	ROW-4400 blk. SE 8th St (south) power line	EA	22	\$ 20.02	\$ 440.44	
PWD/SE 22-033	ROW- SE 19th Ave from Ft. King to SE 5th St	EA	22	\$ 50.05	\$ 1,101.10	
PWD/SE 22-034	ROW-SE 3rd St from SE 15th Ave to the DEAD END	EA	22	\$ 20.02	\$ 440.44	
PWD/SE 22-035	ROW- SE 3rd Ave.. from SE 3rd St. to SE 8th St. (including median at Watula, water tank, and parking lot)	EA	22	\$ 30.00	\$ 660.00	
PWD/SE 22-036	ROW- SE 24th Rd. from SE 3rd Ave.. to SE Lake Weir Ave..	EA	22	\$ 72.80	\$ 1,601.60	
PWD/SE 22-037	ROW-SE 7th Ave from SE 17th St to SE 19th St.	EA	22	\$ 20.02	\$ 440.44	
PWD/SE 22-038	ROW- SE 18th Pl. and SE 14th Ave city lot on the east side of SE 14 ave	EA	22	\$ 27.76	\$ 610.72	
PWD/SE 22-039	SE 17th Street in front of "concrete wall" between SE 20th Ave. & 22nd Ave.- North side of SE 17th Street	EA	22	\$ 50.05	\$ 1,101.10	
PWD/SE 22-040	R.O.W SE 24th ST from SE 36th Ave to SR 464"SE 17 ST mowing ROW next to Tree line and fence line, includes mowing ROW behind Utility poles, fire hydrants,	EA	14	\$ 50.05	\$ 700.70	
PWD/SE 22-041	'Alleyway" Between SE 36 ave and SE 35 ave.from SE 5th Street to SE 13th Street	EA	5	\$ 35.44	\$ 177.20	
PWD/SE 22-042	'Alleyway"Between SE 5th PL & SE 4st Street from SE 34th Ave to SE 35th Ave.	EA	5	\$ 35.44	\$ 177.20	
PWD/SE 22-043	'Alleyway"Between SE 34 Ter from SE 35th Ave-W on SE 12 st	EA	5	\$ 35.44	\$ 177.20	
PWD/SE 22-044	Miscellaneous- SE 33rd Ave. & SE 34th Ave. from SE 12th Street to SE 6th Street	EA	5	\$ 35.44	\$ 177.20	
PWD/SE 22-045	Miscellaneous -SE 12th ST to SE 13th ST from SE 36th Ave. to SE 32nd Ave.	EA	5	\$ 35.44	\$ 177.20	

Exhibit B - Amended Price Proposal CONTRACT# PWD/220817

ITEM	DESCRIPTION	UOM	#Cuts per Year	UNIT COST	EXTENDED COST
PWD/SE 22-046	Miscellaneous- SE 32nd Ave. & SE 33rd Ave. from SE 13th ST to SE 6th	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-047	Miscellaneous -SE 6th ST & SE 4th ST from SE 32nd Ave. to SE 5th Pl	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-048	Miscellaneous - SE 35th Ter & Se 34th Ave. from Se 34th Ave. to Se 34th Ter	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-049	Miscellaneous- SE 31st Ave. & SE 30th Ave. from SE 7th Street & SE Ft. King Street	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-050	Miscellaneous- SE 29th Ter & SE 30th Ave. from SE Ft. King St to SE 4th St	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-051	Miscellaneous- SE 29th Ter & SE 30th Ave. from SE 5th Street to SE 7th Street	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-052	Miscellaneous- SE 4th Street & SE Ft. King Street from SE 32nd Ave. to SE 2nd Street	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-053	Miscellaneous- SE 32nd Ave. & SE 33rd Ave. from SE Ft. King Street to SE 4th Street	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-054	Miscellaneous- SE 3rd Street & SE 4th Street from SE 33rd Ave. to SE 35th Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-055	Miscellaneous- SE 2nd Street & SE 3rd Street from SE 2nd Street to SE 35th Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-056	Miscellaneous- SE 39th Ave. & SE 39th Ter from 700 Block to 500 Block	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-057	Miscellaneous- SE 39th Ter & SE 40th Ave. from SE 8th Street to 500 Block	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-058	Miscellaneous- SE Wenona Ave. & SE Sanchez Ave. from SE 8th Street to SE 9th Street	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-059	Miscellaneous- SE 12th Street & SE 13th Street from SE Sanchez Ave. to SE 9th Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-060	Miscellaneous- SE 13th Street & SE 14th Street from SE Sanchez Ave. to SE Wenona Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-061	Miscellaneous- SE 11th Street & SE 12th Street from SE 9th Ave. to SE Wenona Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-062	Miscellaneous- SE 6th Street & SE 8th Street from SE Sanchez Ave. to SE Tuscarilla Ave.	EA	5	\$ 35.44	\$ 177.20
PWD/SE 22-063	Miscellaneous -SE 1st Ter from SE 8th St to the dead end	EA	22	\$ 35.79	\$ 787.38
PWD/SE 22-064	Miscellaneous - SE Magnolia from SE 8th St to SE 3rd Ave., this includes the embank next to the Railroad tracks down to SE 3rd Ave.. Jul,Aug,Sept, Oct	EA	5	\$ 35.44	\$ 177.20
SOUTHEAST LOCATIONS ANNUAL COST:					\$ 49,780.60

SOUTHWEST LOCATIONS

ITEM	DESCRIPTION	UOM	#Cuts	UNIT COST	EXTENDED COST
PWD/SW 22-065	R.O.W/Median SW 32 St from Pine Ave west to SR 200 on both sides and medians. West of CR 475 mow to concrete wall.	EA	22	\$ 257.53	\$ 5,665.66
PWD/SW 22-066	ROW/Medians SW 27th Ave.. from W. SR 40 to SW 42nd St.	EA	22	\$ 236.60	\$ 5,205.20
PWD/SW 22-067	R.O.W/Medians- SW 24th Ave.. from SW 19th Ave.. Rd. to SW 27th Ave..	EA	22	\$ 101.92	\$ 2,242.24
PWD/SW 22-068	R.O.W/Medians SW 19th Ave.. from SW 17th St. to SW 27th Ave..	EA	22	\$ 192.01	\$ 4,224.22
PWD/SW 22-069	Medians/ROW- SW 20th St. from I-75 to SW 60th Ave.. and SW 44th Ave.. to utility boxes	EA	22	\$ 300.07	\$ 6,601.54
PWD/SW 22-070	ROW/Medians SW 60th Ave.. from SW 42nd St. to SR 40	EA	22	\$ 376.74	\$ 8,288.28
PWD/SW 22-071	ROW/Median SW 46th Ave.. from W. SR 40 to SW 44th Ave.. at SW 20th St.	EA	22	\$ 296.21	\$ 6,516.62
PWD/SW 22-072	ROW /Median SW 17th St. ext. from SR 200 to SW 27th Ave..	EA	22	\$ 125.00	\$ 2,750.00
PWD/SW 22-073	ROW/Median SW 13th St. from SW 27th Ave.. to SW 37th Ave..	EA	22	\$ 147.42	\$ 3,243.24
PWD/SW 22-075	ROW - SW 3rd Street from Martin Luther King Jr Avenue to Pine Avenue	EA	22	\$ 76.21	\$ 1,676.62
PWD/SW 22-076	ROW - SW 5th Street from Martin Luther King Jr Ave.nue to SW 27th Ave.	EA	22	\$ 124.67	\$ 2,742.74
PWD/SW 22-077	ROW - SW 23rd Ave. from SW 17th Street Extension to W State Road 40	EA	22	\$ 53.69	\$ 1,181.18
PWD/SW 22-078	ROW - SW 23rd Ave.nue from W State Road 40 to Nw 4th Street	EA	22	\$ 61.20	\$ 1,346.40
PWD/SW 22-079	ROW - SW Martin Luther King Jr Ave.nue from SW 17th to State Road 40	EA	22	\$ 110.11	\$ 2,422.42
PWD/SW 22-080	SW 20th Street from I 75 to SW 27th Ave. (both sides)	EA	22	\$ 35.44	\$ 779.68
PWD/SW 22-081	ROW - SW 12th Ave. from SW 12th Street to SW 17th Street	EA	14	\$ 31.85	\$ 445.90
PWD/SW 22-082	ROW - SW 15th Ave. from SW 17th Street to SW 12th Street	EA	14	\$ 15.00	\$ 210.00
PWD/SW 22-083	ROW - SW 12th Ave. from SW 17th Street to SW 20th Street	EA	14	\$ 31.85	\$ 445.90
PWD/SW 22-084	ROW - SW 20th Street from SW 7th Ave. to SW 15th Ave.	EA	14	\$ 31.85	\$ 445.90
PWD/SW 22-085	ROW - SW 7th Ave. from SW 20th St to SW 16th Lane	EA	14	\$ 36.40	\$ 509.60
PWD/SW 22-086	ROW - SW 22nd Pl from S Pine to SW 3rd Ave., mowing both sides of the road and the back of the sidewalk on the north side mowing, edging, weed eating, behind fire hydrants, utility poles	EA	14	\$ 91.00	\$ 1,274.00
PWD/SW 22-087	ROW - SW 9th Ave. from SW 17th Pl to SW 20th Street	EA	14	\$ 18.20	\$ 254.80
PWD/SW 22-088	ROW - SW 15th Ave. from SW 17th Street to SW 20th Street	EA	14	\$ 22.75	\$ 318.50
PWD/SW 22-089	ROW - SW 17th Ave. from SW Martin Luther King Jr to SW 17th St	EA	14	\$ 40.95	\$ 573.30

Exhibit B - Amended Price Proposal CONTRACT# PWD/220817

ITEM	DESCRIPTION	UOM	#Cuts per Year	UNIT COST	EXTENDED COST
PWD/SW 22-090	ROW - SW 18th Ave. from SW Martin Luther King Jr to SW 17th St	EA	14	\$ 15.00	\$ 210.00
PWD/SW 22-091	ROW - SW 12th Street from SW Martin Luther King Jr to SW 7th Rd	EA	14	\$ 40.95	\$ 573.30
PWD/SW 22-092	ROW - SW 7th Rd from SW 16th Ln to SW 10th Street	EA	14	\$ 54.60	\$ 764.40
PWD/SW 22-093	ROW - SW 6th Ave. from SW 10th St to SW 17th Loop	EA	14	\$ 45.50	\$ 637.00
PWD/SW 22-094	ROW - SW 5th Ave. from SW 10th St to SW 17th Street	EA	14	\$ 27.30	\$ 382.20
PWD/SW 22-095	ROW - SW 16th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 63.70	\$ 891.80
PWD/SW 22-096	ROW - SW 15th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.00	\$ 210.00
PWD/SW 22-097	ROW - SW 14th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.00	\$ 210.00
PWD/SW 22-098	ROW - SW 13th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 63.70	\$ 891.80
PWD/SW 22-099	ROW - SW 12th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 81.90	\$ 1,146.60
PWD/SW 22-100	ROW - SW 11th St from SW 6th Ave. to S Pine Ave.	EA	14	\$ 15.00	\$ 210.00
PWD/SW 22-101	ROW - SW 8th St from SW 6th Ave. to SW 5th Ave., also includes behind the building next to the wooded fence	EA	14	\$ 63.70	\$ 891.80
PWD/SW 22-102	ROW - SW 30th Ct north of SW 20th Street to SW 19th Street	EA	22	\$ 20.02	\$ 440.44
PWD/SW 22-103	Miscellaneous - SW 57th Ave. from SW 25th Street south to the dead end mowing next to tree line and fence line. Includes mowing ROW behind utility poles and fire hydrants	EA	14	\$ 59.15	\$ 828.10
PWD/SW 22-104	Miscellaneous - SW 25th Street from SW 57th Ave. to SW 60th Ave. mowing up to tree line and fence line. Includes mowing ROW behind utility poles and fire hydrants	EA	14	\$ 59.15	\$ 828.10
PWD/SW 22-105	Miscellaneous - SW 10TH Rd from SW 20th Ct west to dead end of street. Mowing ROW next to tree line and fence line. Includes mowing ROW behind Utility poles and fire hydrants.	EA	14	\$ 54.60	\$ 764.40
PWD/SW 22-106	ROW - SW 7th Street from MLK Ave to Sw 23rd Ave	EA	22	\$ 100.00	\$ 2,200.00
PWD/SW 22-107	ROW - SW 17th Ave from Sw 7th St to Sw 5th St	EA	22	\$ 75.00	\$ 1,650.00
PWD/SW 22-108	ROW - SW 21st Ave from SR 40 to Sw 5th St	EA	22	\$ 80.00	\$ 1,760.00
PWD/SW 22-109	ROW - SW 13th Ave from SR 40 to Sw 7th St	EA	22	\$ 90.00	\$ 1,980.00
PWD/SW 22-110	ROW - SW 5th Street from Martin Luther King Jr Ave east to dead end	EA	22	\$ 110.00	\$ 2,420.00
PWD/SW 22-111	CENTER MEDIAN STATE Rd 40 From S PINE ST TO First median west of I-75 UNDER BRIDGE	EA	22	\$ 350.00	\$ 7,700.00
PWD/SW 22-112	S MAGNOLIA FROM STATE RD 40 TO PINE THEN N MAGNOLIA FROM S PINE TO STATE RD 40	EA	22	\$ 170.00	\$ 3,740.00
PWD/SW 22-113	ROW - MOWING SE 15 AVE SOUT OF SE 17 ST TO THE DEAD END, BOTH SIDES OF THE ROAD ,EDGE CURB, SIDEWALK	EA	22	\$ 42.00	\$ 924.00
PWD/SW 22-114	SW 42 ST BRIDGE MOWING ALL SLOPES AND THE EMBANKMENTS ,OVER I-75 HIGHWAY ALL CORNERS	EA	5	\$ 650.00	\$ 3,250.00
PWD/SW 22-115	200 block of SW 32 Street, MOWING ALL SLOPES AND THE EMBANKMENTS ,OVER BRIDGE HIGHWAY ALL CORNERS - Lake Louise	EA	5	\$ 275.00	\$ 1,375.00
PWD/SW 22-116	CITY LOT "ACROSS STREET FORM THE PISTOL RANGE" SW 23 AVE & SW 10 ST PARCEL NUMBER 23553-000-00	EA	5	\$ 250.00	\$ 1,250.00
PWD/SW 22-117	SW 4 St From SW 10 Ave to SW 24 Ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 124.67	\$ 2,742.74
PWD/SW 22-118	SW 2 St from MLK to SW Pine Ave mowing up to tree line, and fence line. Includes mowing ROW utility poles & fire hydrants	EA	22	\$ 76.21	\$ 1,676.62
PWD/SW 22-119	SW 5 Ave from SW Broadway to SW 3 St mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 50.00	\$ 1,100.00
PWD/SW 22-120	SW 17th Loop from the dead end near SW 6 Ave around the loop to SW 5 Ave.	EA	22	\$ 15.00	\$ 330.00
PWD/SW 22-121	SW 5 Pl from SW 19 Ave to M.L.K mowing up to tree line and fence line. Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 15.00	\$ 330.00
PWD/SW 22-122	SW 6 St From SW 19 Ave to MLK mowing up to tree line, and fence line. Includes mowing ROW behind utility poles and fire hydrants	EA	22	\$ 15.00	\$ 330.00
PWD/SW 22-123	SW Fort King from SW 24 Ave to Pine ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 15.00	\$ 330.00
PWD/SW 22-124	SW 7 Pl from SW 23 Ave to SW 19 Ave mowing up to tree line, and fence line. Includes mowing ROW behind utility poles, and fire hydrants	EA	22	\$ 15.00	\$ 330.00
PWD/SW 22-147	SW 43rd Court from SW 20th Street to Hwy 200 near the Cheddar's Scratch Kitchen Restaurant	EA	22	\$ 596.28	\$ 13,118.16
PWD/SW 22-148	SW 26th Street from SW 57th Ave. to the dead end near All American Auto Supply	EA	22	\$ 62.50	\$ 1,375.00

Exhibit B - Amended Price Proposal CONTRACT# PWD/220817

ITEM	DESCRIPTION	UOM	#Cuts per Year	UNIT COST	EXTENDED COST
PWD/SW 22-149	Old Fire Station #3 - OFN Location - 737 SW 16th Avenue	EA	37	\$ 52.75	\$ 1,951.75
SOUTHWEST LOCATIONS ANNUAL COST:					\$ 121,107.15
TOTAL ANNUAL COST					\$ 170,887.75